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If there are three houses and one is red, one

is blue and other is white. If the red house is to
the left of the house in the middle, then the blue
house is to the right to the house in the middle,
where is the white house?

What are the next three letters in the following
sequence? J,F, M, A, M, J, J,A, _, _, _,

| don’t have any special powers, but | can predict
the score of any football game before it starts.
How can | do this?

Does hot or cold travel faster?

A woman takes their car to a hotel.
Upon reaching their destination, they declare
bankruptcy immediately. Why?

If a man stands on one side of a river, his dog
on the other side. The man calls his dog, who
immediately crossed the river without getting
wet and without the help of a bridge or a boat.

How did the dog do it?

How many seconds in a year?

When you add two letters, a five-letter word becomes shorter.

What is that?
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In Washington, D.C.

S, O, N. This sequence is the first letter of each month in the year. September,
October and November are next.

The score before any football game is always zero to zero

Hot is faster because you can catch a cold

She is playing monopoly. They land on a property with a hotel and don’t have
enough money to pay rent

The river was frozen

12 seconds. January 2nd , February 2nd , March 2nd and so on

Short

For a full list of on-campus & online activities, see the What’s
On At Griffith website or socials

griffith.edu.au/whats-on/recharge-week
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